Mathematics, Summer 2011 / Exercise 18
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M NN P W ONRN 2sin (22) YV YTRN XPNan N0
J () = 24+ 1 59 mmyTpn neNpNan 55 NN INKD
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3NN 2 =2 NMpaa NdWY WP OX L f (z) = Z5L spnan SY nnyTpn mEpnan NK INKD
B
0NN 2 =1 nMpaa n>ww P ox L f (z) = ZE2=L mxpnon Yv nmTpn 8pnsn NN NN
1xn z =% nmpaa moww i ox L f () = 3777 mpnan v nmTen mEpNan NN INSD

o =4 WM 2N VYL f (2) = 22 4+ 1 8pnon 973 P NWRIN Y272 KI9IN NOYN NN INID

=41z =3 oarn own ya L, f (x) = 3;_8 oV 90 NNNMY 7N PO Syn DIDNN NLYN NN INSD

J(2) = 2% — 3z — 10 Yv 19127995 Sym 27N PEY DNNN DIDNN NOYA NN INYND .

a=Twmg(x)=2%,f(z) =18 nrypnon pa puran ya7a ownn NOWN NN 12WN

g(x) = Yr a5 f(z) = 2% P2 N9 NOYN NN INYD .

g(@)=z+ 1 f(x) =€ nospnom z =5 ,x = —1 DYIIND DIWN P2 NYID NOLYN NX 12VN

2T P 2 = —8 0NN Wn L f (x) =z 8PN 973 P2 XN NVYN NN 1AYN

XN PN = 2771 x = —8 079NN 0N L f (z) = Fx PN 913 P2 NI9IN NVYA NN 12N

F () 5% mrypm manpn omnn N RN Lf 9¢ nmTp mspne F (z) onn L f (z) = e” — ex? T

N F (x) 59 nmem nvbyn omnn IR IR Lf v amTp iospna F(z) 'nn .f (x) = arctan (e®) Tn
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